Equal 9 step grey scaling betweeb* g;n=—40.0 andL*y,,=40.0, Yo,ei=90.0, normalisation greyU

L*0anF=39.9,L*02=0.0, L*0awF40.0, Yoan=3.6. Yoa=18.0, Yoauw=90.0, Coay=Yoaw: Yoan=25.0
L*taN==3.5,L"1a=0.0, L*taw=12.7,¥1an=15.6, ¥a=18.0, Y1an~=30.0,Cray=Ytaw: Yian=1.9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 AL* min] / [AL* max], L* TusinD1 = 40 / Iog(5) [log (Y/Yy) ] with Y, =18

g*%= 100, g’y= 100 %= 14, g%= 1 g’%5= 71, g%5= 54
L*TuBanD1 intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) 1/206|*a AlL*la
50+ ;
(D9 400 10 90 10} 127 1.0 300 1.0 12.7
3 45 24
8 300 0875 602 0655 8.2 0.723 250  0.854 10.3
251+ ' 35 2.2
7 200 075 402 0424 46 0.505 21.7  0.718 8.1
: 27 2.0
6 10.0 0.625 269 027 20 034 195  0.592 6.1
: 2.0 1.8
o+@s5 00 05 180 0.167 00 0.219 18.0  0.478 4.2
: 1.4 17
@+ 99 0375 120 009 -13 0.132 17.0 0.374 25
1 1.0 1.6
@3 -199 025 80 0051 -23 0.071 163  0.277 0.9
-25+ 3 0.7 1.6
@2 299 0125 54 0021 -30 0.029 159  0.179 -0.6
: 0.5 2.9
@: 399 00 36 00: -35 00 156 0.0 -35
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*o = = ! normalisation: Yiu=Yoau J0ait Yoref
AL*gF10.0  (i=1,2,..8) | tail=Yoau g 22 el
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